Geometry Chapter 2 Practice Test ‘ Name: J SO LU
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Make a conjecture about the next term in this sequence: 5, -10, 20, -40... @
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Make a conjecture given that AB = BC.
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Make a conjecture given that XY bisects ZWXZ. \)J
MmZWXY =mLyYxE
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Identify the hypothesis and conclusion in the following statement, then write in if-then form.

Hard working people deserve a great vacation.
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The Venn diagram shows what kind of musi¢That students listen to. How many students listen
to pop or rap music?
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Choose the property that justifies the following statements.
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If3 +x = 6, then x =3 SUMTMJhCﬂ

Ifm/A =m/A WW e
If 3(x +2) = 12, then 3x + 6 =12. pl‘q-n'hm\/e

IfmsXz=zmsY and msZY =2m~ZZ, then msX =m/7
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Given: A, B, and C are three points
Conjecture: A, B, and C are collinear.
Sketch a counterexample in the space provided. a4 @

Given: 21 and £2 are complementary.
Conjecture: 21 and £2 form a right angle.
Sketch a counterexample in the space provided.
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Use the Law of Detachment to write a valid conclusion for the given information.
a. Ifitis an equilateral triangle, then all sides are equal.
b. Triangle ABC is an equilateral triangle.

.. _NMBAC has dllggual Sides

Use the Law of Syllogism to write a valid conclusion for the given information.
a. Ifitis a scalene triangle, then all side lengths of the triangle are unequal.
b. If all side lengths of a triangle are unequal, then all angle measures are different.
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Determine whether statement (3) follows from statements (1) and (2) by the Law of
Detachment or the Law of Syllogism. If it does, state which law was used. If it does not, write
invalid.

(1) Perpendicular lines intersect. Y L d: D@[Zld/m
(2) Lines m and n are perpendicular. eg ) aw ,

(3) Lines m and n intersect.

Complete the table below:

STATEMENTS TRUTH VALUE

Conditional

If the cell phone works, then the batteries are charged. 'T( (,L &
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Complete the following two-column algebraic proofs.
. w—4 ’ ;
Given: =3 Given: 2(x —2) =4x + 10
Prove: w=22 Prove: x =-7
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Determine whether the following are ALWAYS, SOME ES ﬂ:NEVER true. Make sure to state the
postulate that you use for #17-22. Drawing pictures may also help you decide.
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Three noncollinear points determine a plane 2 l 24

The intersection of three planes is one line. M&/ﬁ[ W&U.} ¢
Three points lie on the same line. MQ

Between points A and B there are two lines. ﬁ&ﬂﬂ 2 ‘ "‘f
Three lines intersect at one point. Sﬂﬂmg e _,’ -

If plane 7' contains points £ and F, then pIane T also contains EF. ﬂw@{& 2 5

Vertical angles are adjacent. N @\_/
Complementary angles add up to 90°M§

Supplementary angles form linear pair. ma\ﬂg

Use the following statements to write a compound statement for each conjunction or
disjunction. Then find its truth value.

p-3>2 q:3x=12 whenx =4 r: An isosceles triangle has two equal sides

a. pand g b. porg c. pV(gAT)
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27)  Complete the

tfoll)]IO\.Ning truth p q ~ qv mOL /\ '(7 pVvV(~qAp)
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R e N B S I = =
F 1l F T = =
28) mZl=x+24 and mL2=3x-10 29y mZLl=2x+15and mZ2=2x+33.
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%t24= 2 10 2kHo+ X433 =190
30) 22 and £3 are complementary, 31) me6 = 70 X=%3

22 2 £5,ms4 = 58. :’Q

32y mell=4x-3 BYymel=7x+1, me2 =%x—6
me12 = 3x + 2 me3 = — 12, me4 =3x+5
/]

< ]

@11 i ]015

4

X34 20k =0 x4y —012x-12 +X+5= 180
J-1=9 | - 12= I8
7r2<=‘%fo liy=192-
=12
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